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Preface

This manual contains solutions 1o every problem in the third edition of John Saxon’s Algebra 2
texthook, The solutions are designed to be representative of students” work, but please keep in
mind that many problems will have more than one correct solution. We have attempled o stay
as close as possible 1o the methods and procedures outlined in the textbook. Early solutions of
problems of a particular type contain every step. Later solutions omit simpler steps. The final
answers are set in boldface for ease of grading.



Problem Set A

PROBLEM SET A 12, =32 -3 — (=32
1. v+ 65 =180 =-9-3-9=2-21

y =180 - 65 = 115 13, -3(-2 - 3 + 6) — [-5(-2) + 3(=2 - 4)]
2. x + 40 = 90 = -3(1) - [-5(-2) + 3(-6)]
x =90 - 40 = 50 =-3-[10-18]=-3-[-8] =5
3 x + 89 = 180 4, 22222
.r=lﬂf]-39 :—2—4—3—1&:—3{'
r=9
15. |-2| - |-4 -2 8 = |-2] - |-6] + |8
Since vertical angles are equal, 5. 121 - | |+ 18] =121 - -6l « |
=2 - ﬁ + E =4
v =89
p =91 16. -|-3(2) -3 -22=-|-6-3| -4
4. z + 100 = 180 =9l -4=-9-4=-13
z = 180 - 100 = 80 17. 2 -P_ |2 -2=4-8-2-2
Since vertical angles are equal, = =16
2y = 80
= 40 18. -3[-1 - 2(-1 = D][-3(-2) - 1]
dy = 100 = =3[-1 = 2-2))16 - 1] = =3[-1 + 4][6 - 1]
y =125 = -3[3][5] = -45

19. -3[-3(=4 = 1) = (-3 = 4)]
-3[-3(-5) - (-7)]
=3[15 +« 7] = -3[22) = -66

5. Angle + Supplement = 180°
Angle + 40° = 180°

Angle = 180° - 407
Angle = 140°

[]

20, 2[-3 + 1) - (=2 = 2K-1 + 3)]

6. Angle + Complement = 90° =2[(=2) = (-4X2)] = =2[-2 + §]

n

Angle + 40° = W = -2[6] = -12
Angle = H* - 40°
Angle = 50° 21 2[-2(-4) - 2°](-]2]) = -2(8 - 81(-2)
= -2[0)(-2) = 0

7. 2-(-D=-2+2=0
22, 8 -3 (=22 - 3-2) +2
8. 3-[2]=-3-2=-5 =-8-9-44+6+2=-I3

9 -2-3-2-2)-5-5+T7) 23, —{-[-5(-3 + 271} = ~{-[-5(-171}

= -2 - 3(-4) - 5(2)

= -2 - (=12) - (10) = {09} = 35

=-2+12-10=0 24, -5 - |-3-4] =32 -3
10. [-2(5 +2) - (-2 - 3)] =S$-1-9-3

= -[-2-3) - -5)] =5-7-9-3=-XU

=6 +3] =-11 25, 32 + 5) - 242 - 3) - |2
11, -2 + (-2)° = -2 + (-8) =3(3) - 4-D -2

=-2-8=-10 =9 +4-2=11
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Problam Set B

26.

27.

29,

21

4.

5.

-5 — (=2) + 8 = 4(5)

6 — 4(-3)
_ =3 +2+8-20 15 5
- 6 + 12 T

2[]-3 -4 -5 =28 - (-1)]
= (=2)[}-12] - 8 + 1] = (-2)[12 - 8 + 1]
= =2(5] = =10

=3 =(=2)+9 - (-5
-3 + 4|)
:=-3+2+9+5=13

() 7

4-2)[~(T - 3)5 - 2)2] = -B[-(43)2)]
= =H[-24] = 192

- (=4) = 5(3 = 1) + 3(4)-2)°
4+ 4 = 5(2) + 3(4)-8)
44+ 4 10 - 9 = 98

=

PrROBLEM SET B

Aghaded = ASquare — ACircle
[(8)(8) — m(4)%] m?
(64 — 16m) m® = 13.76 m*

Il

Aghaded = AToral — ANot Shaded

[;-uzmu;.} m?

1
- [{3)'{4} + 5[3'}{5} + %{9}(41] m>
60m? - 39m? = 21 m?

Ashaded = Acircle — ATriangle
[ntﬂ)’ - %nﬁ){s} cm?
= (647 — 64) em® = 136.96 cm’

n

Perimeter = [%{2}{::}{2; + 14- m

={2r + 14)m = 20.28m

Area of 207 sector

4n
ﬁfﬁci:ﬂc]‘

= ;ﬁ%uzsm m® = 8,72 m?

|
_V[*"rism

6. Veyramid = =

= %[Agm % height]
- %[21151{4} cm? % 10 cm]

= -;{lzﬂjcma = 40 em?

7. Apase = [L3JI4J + %m:i;l]m?
= (12 + 21 m® = 18.28 m?

VC}'“I‘H}L‘F = Agyge X hﬁght
=(12+ 20)m* x §m
= (96 + 16m)m® = 146.24 m*

2
8. Viphere = 3 Veytinger

2 .
= E[Aﬂast x height]

= %[ﬂr[lfr}llum2 ¥ 12 ¢m)

2
= G6m)(12) em® = 904.32 ¢cm®

S.A. = d4mr® = 4m6)’ cm® = 452.16 cm?®

9, Areaof 72° sector

72
360 (Acircte)
T2 3
= ﬁ[.ﬂ:{l[}jz] cm®

= %nm:m em? = 62.8 cm?

10, Perimeter = [%LE}{::}(?.} + 16 + 4:| vd

+ [%{E}ENKEJ-‘ yd

= (41 + 20) yd = 32.56 yd

11, z 4+ 70 = 180
z = 130 = 70
z =110
Since vertical angles are equal,
2x =70
x=135
y = 110

Algebra 2, Third Edition



Practice Set 1

12. 5A + 40 = 90 2 —|-5| - (=2} + 6 - 4(3 - |6 - 9|)
SA = 90 - 40 ' 5 = li4)-3)
SA = 50 _ 5+2+6-4(3-3)
a=2_10 5—1|-12]
5 _=5+2+6-0_3 3
13. 2B + 140 = 180 5-12 = 7
28 = 180 - 140
5 oo 29, 2=(=3-2)-(-2+5)
B ' -4(2% - 3)(-2)
40
B=*2-=2ﬂ _=2-(=5)=-(3)_=2+5-3
=4(1N-2) B
14. Angle + Complement = 9)° 0
Angle + 10° = 90° =g=0
Angle = 90° - 10° = 80°
. 0. 23 + 4 - 6) - 2%(-2) - 3(-2) - |-5|
15. A.ng]e +ASUFPIEH1;;I: = ::{':::D - _2{_5} _ 4{_2] + ﬁ - 5
ngie + = =10+8+6-5=19
Angle = 180° - 60° = 120°
2 3 2
6. -2° -2 - (-2 -2 PrACTICE SET 1
=-4-8-4-2=-18
a. mLA = mLC because they are angles opposite
17. 2> - |-4| + |4 =-4-4+4=-4 equal sides.
mZsC = 35°
18, -3 -3-3¥=23-3-9=-15
mZR = 180" — msA - m2C
19. -4 - (=3 - 22 + |-4] mZB = 180° - 35° - 35°
=-44+27-4+4=23 meB = 110°
0. 3% - 2(-4+6)=-9-22) =-13 b. x = 180 — 145
2. 422~ 3) -5+ |3 = 44 -H-54+3 x =35
=-4-TN-5+3=28-5+3=26 y =180 - x - 40
;= 180 — 35 — 40
22, -1 - (-5)] - [-6(-2) + 3] = = 08
= =2[-1 + 5] - [12 + 3] e
= -2[4] - [15] = -8 - 15 = =23 e A =180 - 130
23, 22 - _2_|2=-4-8-2-2=-16 A=
" | C=A
M4, 2-|-3-4+8|-22==2-11]-4 C = 50
= .2 1 4 = =7
28 =180 - C
25, -|-2-3-4| -2/ =--9 -2 g = (180 - 50)
=-9-2=-1 - 2
B =65
26, —3-(-2)+8-4(5)-3
6 — 4(-3) I— 6
_ -542+48-2-3_ 18 _ & I8 =3
6+ 12 18 F_ 6. 4_24_8
27, (D[-3 + 4 -5 -2°- (1) 503 15 5
=(2)[]-4| -8B+ 1] =(-2)[4 - 8 + 1] _Sp_5.8_8
= (-2)(-3) = 6 fEIPTTIST S
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Problem Set 1

PrROBLEM SET 1 Ml !
l"1".'nn’|'|illl.-'l'l:'iamgln:s; =i E[Sjijj + 5{4]{4}
1. Since angles opposite equal sides are equal angles, - ,
x = 48, + 5{3}{3}} em?
¥+ 45 + 45 = 180 = 25 cm®
¥ = 180 - 90 = 90 AShaded = ATotal = AWhite Triangles

(24 + 257 cm?® ~ 25 cm?
(257 — l:ncm1 = 77.5 cm?

2. Since angles opposite equal sides are equal angles,

x = 55,
¥+ 55 + 55 = 180 7. Perimeter = [%(EJEJIJ[*IJ + 4$:| ft
y= 180 - 110 = 70 = (d7 + 48) ft = 60.56 ft
3 = .
2C + 70 = 180 8. Veylinger = Apase * height
2C = 110 = [md)? it x 8 fi]
C =55 = 1287 ft’ = 401.92 fr*

b

Since lines are parallel, B = 110 and A = 70.
Vsphere = 5 Veylinder

4. 2 x SF = 3 2
\ = JU28m 1 = 267951’
5F = =
2
- 9. p + 30 = 180
x 8F = x p = 180 - 30 = 150
(3
Eki}:x 2y + M) = 90
9 2y = 90 - 30
xX= E ¥y = 30
Since vertical angles are equal angles, x = 30.
1 1 1
5. ATgpShaded = [53(4)"' - E(SH‘U em’ 10. p+ 60 = 180
zfﬁ.ﬂ'—lﬁ}lcmz p:lEﬂ—ﬁ-ﬂ:lzﬂ
60 Since vertical angles are equal angles,
ABottom Shaded = _“[m:‘”z] em? 10y = 60
360
=6
_ 6o 2 )
= 3ol R 4y = 120
= v =30
Ashaded = ATop Shaded * ABottom Shaded
= (87 - 16)cm? + ﬂilﬁﬁl - 1. Angle + Complement = 90°
360 Angle + 17° = 90°
Angle = 90° - 17° = 73

= [H:r + %J‘E’ - lﬁJ em® = 17.49 em?
1 ,

| l 12, Veone = E':"‘-Base x height)

6. Ag = [EEH-J'['EI] + EI{SIZ

i[%maf + {5]{6}]m1 ® Tm

+ —;:'ir{df}-2 + %m{ﬂjz} em? 3
_If9 3 3
= (24 + 25m) em?® = E[E.’E + 3D](T]m = 102.97 m

4 Algebra 2, Third Edition



13.

14.

15,

16,

ITI

15,

19

21.

22,

23,

ro= %side of square

-

‘q.'Squur: = 5"

¥ = 4dr

Agquure = (4 = 16r2

-[-2(=3 = 2) - (=2 - 3)] = -[-2(-5) - (-5)]

= {10 + 5] = -[I5] = -15

=2[-2 - 32 - D][-2(-4) - 3]
= =2[-2 - 3-][-2-9) - 3]
= =2-2 + 12]I8 - 3] = 22[10][5] = -1M)

22 - 232 + 3-2)] - |29
=_-4 - §-2-6] - |-8 = -4 - 8-8] - &
=4 + 064 - 8§ = 52

3 -2 47 o2 - 32
=-3-8-16-|-2-6|
=-3 -8~ 16 - |-8|

=-3-8-16-8=-35

{203 + D - 2)-3=2 + 11}
= {214 + 2[-3¢-11} = {20631}
= -[{-36} = 36

32 o33 43 o3P -3
=9 _27+8 -(21 -3
=9 -27T + 8l +27T -3 = §7

~(-4)* - 4|-2| - 2 &+ |-11 - 4
=16 = 4(2) = 5 + |-15|
= 16 -8 -8+ 15=-17

6 - {[3% - 8 + (-2][-¢4 - 6)-3) + 2]2})
=6 - {9 -8 - 2[--2x9 + 2]2}

=6- [[9-8 - 2][18 + 2]2}

6 — {[-1][20]12} = 6 - {-40}

=6 + 40 = 46

2] - |4 - 312% - 4
2] - |74 -4 =-2-74) - 4
2-28-4=-M

(-1-3D[2 - TH-3 - 2) + (-2)*]
= -3[-5(-5) + 4] = -3[25 + 4]
= =3[29] = -87

Algebra 2, Third Edition

285,

27.

29,

Problem Set 1

=|=4] = (=3) + 7 - 6(4 - |7 - 11])

7 = [(3x-=2)|
-4 +3+7-6(4-[-4])
- 7 - ||
=4 4+34+7-6(4 -4)
N 7-6
44+ 3+ 7=6(0)

-4 +34+7- )
_ + 3+ ﬂ—%:ﬁ

-3 - 20(-7 - |-3 - 2|) - (-3
= (ST -|-5)-9=5-7-5 -9
=5-12) -9 = 60 - 9 =_69

-3[-2-7-2] - 32 - (2]
—3[|—]I| -9 % 2] = =3[11 =9 + 2]
-3[4] = -12

~4 - (-3) + 7 - 6(2)

T = (3K=2)
—4+3+7-12 -6 _ 6
- T+6 T3 13

3-5-22-4%15-|2-5]|-3)
=3-5-4-16-1)(-3 - |-7] - 3)
=354 16(-1)-3-7-13)

=3 -5-4- 16(-1)-13)
=3-5-4-208=-214

-8 + (-3)-2 + (<7) - 2-4 - 2)
= -8 + (-3)4) - 7 - 2-6)
s=8=12=T+ [2 ==15

6(=3)[~(5 - 4)(6 - 2)3] = —18[-1(4)(3)]
= -18[-12] = 216



Problem Set 2

C.

'd+

PRACTICE SET 2

_4-3=.._| =_|-__L
42 -6 16
5 | ] 1
—[=4y* = - [ ——
= (-4 -(16) 16
(x2y )0 (2732 X0yl 6,2
yBxdy2yd - yByty2yd
!
.rT.p’E’ *
A = mr’ = 49z cm?
2 = 49cm?
r=T7cm
C=2rr=2x(7Tcm) = 47 em
PROBLEM SET 2
4 x SF = 6
5.3
4 2
3% SF =x
I xS =x
9
r ==
2
Since angles opposite equal sides are equal angles,

x = 38
y + 38 + 38 = 180

y = 180 - 38 - 38 = 104
i"ri.‘:,'linu:lzr = Apgge * height

= [—-—-(HM} Y+ = (4‘1(?]] ® Bm

= [mtlﬁm + 14](31 me = 178.99 m®

Since vertical angles are equal angles,
= &0

A =20

28 + 80 = 180
8 = 10
=50

Since lines are paratlel,

20 = 44
20 = 80
C =40

5 A+ 60 = 1580
A 180 - 60 = 120

Since vertical angles are equal angles,
28 = 60

g = 30
iC =120
C =40

6. Agquare = 52 = 16 cm?

F= vl cm? = dem
= l{-ﬂ = 1[4 cm) = 1em
=50 = 7 _
Agircle = ®r* = 3.14(1 em)® = 3.14 em®

7. v(‘ylmd.cr = Apg,e * height

250mem’ = [a(5)*] em? x height
250rcm® = 25mem® x height
3
height = M = 10 cm
25rcm”

1
B. Veone = 3 ® Apgge. * height

=11
- j[lmm F(2X2)

.
+ l:"r{lfj2 'm? x 4m
2 J

= 1{5 + E]H} m? = 8.76 m®
3 2
g P I:.!:D}'_I]z - Hzxny—z - _Il}.-'l
y2 i (},1]5 KEI—S},HJ X _3.1"“1
= x0y12
" mzpa{m-zp}z B mlpilm-d-PE
= . = _ 1 = K
- 2:’" I{m Epi]. P m ‘}pﬁ
=212
= P-‘. = m%
m_”p‘
" Exz}.]ﬁ” ~ lu,rlr” _oxy _1-‘1}.7
.xl{_,”-ljf‘ _1.2.‘, ] J.'l_'r_ﬁ
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{EEbﬂ;lZab-l ﬂdlbﬂabﬂ—z B aﬂb—z

12, I )
alb-zfﬂb-j}z alb—iﬂzb_ﬁ a"'h‘ﬁ
= ab®
13, Com™1) 2 x%m? _ i xim? _ x"'m?
(x*y2)2 xy Oy ~xy =
mSy3
=
14. (‘zd}_jﬂ_s _ c8g~35 ~ c1g-3
(czdﬂj-z di c‘—d-d[id:] {‘_4&"3
_ 1
T ¢7d®
15, @20 2m(n)? O
(m2n=2)"*m? 667
=30 )
=i - ™
mn
16 (x 253 ()04 ~ f:?ffxiy _xyl6
‘ w7 T oxp iy T plR
¥ X Xy x x 'y
19
= —x-s—-—
” {5‘21‘"2‘}_3:?—3 ~ b_ﬁcﬁc_a ) b_ﬁ[-s
C T (BE0p2y T pEOpE T T
_ e
=5
18. (abc)~ c*b _ a” b3ty ah e
a~bela a~ el T pe
- h-3c-3-
19 o . S S
W% 0% T LT
20. _‘z_}’.’.'l'f.____ - 52 ym 3 _ $2ym™3
()3 mIst  SrSm iy smrS
_ 1
21. (x3yz3)? iy? _ x~6y276xy0 I
(x%272) P xy x73y025xy x 2y8
31
j.d-l

Algebra 2, Third Edition

22.

26.

27.

29,

a.

hﬁ

= 3}.2“4 ~ 1-3},21_3,4 B r—i}.ﬁ
{x—ly}E}.—.!I x_ﬁyj}"a.r T_S
_ 1

x-ﬁy-ﬁ

| 1
L .
3l 9

1

? = —2 - —5

AR -[P-3-2-17)
=9 -[-1-1-2]
=9[4 =-9+4=-5

2{[-3 - 2-2][-2 - 3]}
= =2{[-3 + 4)I-2 + 6]} = -2{[1][4]} = -8

2{-3%(-5 - 2(-3) - 2]}
= 2{-1[-1=3) - 2]} = 2{-1121 - 21}
= 2{-1[19]} = 2{-19) = -38

34" - 72 - 3 - 2% = 31 - -1 - 4]
=3[l +7-4] =-3[4] = -12

2-3 -8 -3 =5 +5-27
=-5+5-27=-27

-3 -2 -2 - (3= |9 -2 -1 +3
=-|-1l|-1+3==11=-1+3=-9

PRACTICE SET 3
ab’ — b= (-3 - (=3) = 2(9) + 3 = 21

xy = (=xy + y) = (2)(-3) = [=(2)(=3) + (-3)]
=-6-[6-3=-9

2a3x _ Sx " a’

i a’m  m7x
_ 2x Sx a*m _ a*m 3x
-a"m-a}mvx T ox _a‘!m



Problem Set 3

31‘

6!

PROBLEM SET 3

4 x s_f': =0
F-8.3
4 2
SxSF=x
5x ;—'- =X
2
15
X = —
2
Since lines are parallel,
z = 8l
z=9
3y 4+ Yz = 180
3y + 81 = 180
Irv=99
y=3
1 :
II'JCt!nru.-, = EEAB;;E X hﬁlgh[)

1

487 m’ = [m' x Om]

l447m® = 7rl x 9m
|I44n-m3

Fs jJ——ou—0uoo =4m
"n'?::m

Circumference = 2rr = 2mdm) = 2512 m

Since angles opposite equal sides are equal angles,

A = 40,

B+ 40 + 40 = 180
B =180 - 40 = 40 = 100

[}

i .
Voone = —[Auam » height)

[—-—(rr{i}’-} + Eﬁ}(s:} em® % 10 ¢m

1 3 3
Pl Il i A = -
[3 (257) + ‘ZU]UD}Lm 110.28 em

Perimeter = 2rg + 2rg + 2rg 4 2rg

2(8em) + 2(8em) + 2(6cm)
+ X5 cm)

lbem + l6em + 12cem + 10cm
54 ¢cm

x = {xy? = xy = 22 = |22](=3)7 - (<2)(-3)
==2 - 2N -6=-2-18-6==26

.

10.

11.

12.

13.

14.

15.

16.

17.

la - b)—al-b) = (=5 - 3) -
=-8-15=-23

(-5)(-3)

=ala = ax)ix - a)
—(-2)[-2 -~ -2ud])[4 - -2)]
22 + B)4 + 2) = 2(6)6) = T2

at = yia - vy

= (-2 - -3[-2 - -3)]-3)

4 4 272 — 9)(=3) = 4 + 27(=11}-3)
4 + 891 = 895

-p* = pla = p*) = =3 = (-3)[4 - (=3)7)
9+ 34 -9) =9+ 35 =-9-15
= =24

= {_1}2 - 'jlj[__-z - 2}32
4 - 27(-11)9 = 2677

a 1.'3'(.;1 _}.3],2
=4 - 27(-2 - 99 =
a® - alx - ax) =
] = 1(2 = 2) =

22 - unl
-1 =1-0=1

PEI-‘ zp 3 3‘1”2"72

m> PR P 2

2.4 2.4
X AIpcx
E Ipxmﬁ-p
m° m’
2.4
4.4 5 _ 2p°x
prm "'MT

=510 4

" Tp*m

4 3

+7p

9
m*y? 2mix’

k3 kim 2 - "
m*xS 2miS 3w’

k5 RS
53

3m xlk
g d

L[]

mix® _ 3m7
kS xk?

5
—Zr" a, 3xy 2 43'}*2

NN

X ¥ X _'}'
+ 30y 4+ dey = xSy 4 duy
2 xtyimt 2x%ym?
2xvem — 3 + 3
mox mx
Sx}"‘j'm - 2_wr|2 = Z_sz - ryzm

= Zx;;'zm -
{IUFI}—S}.—EPU ﬂ},nﬁ} r—EP'U

(xz}-q[Fz)n(pa}-z = x 8y, 0,6

X0y 6
= 2PN L
H}_Up fi
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18 [MPEF)EI,—EJE _ MEII},-IFEF-EIE
(Fum}s}—z .rp'z puxuzm —2}.—6#, -2
2,44
= My 45102
T bzl
- 112(3_2]"2(”!#1'2}-4 ~ :\:tg,l:"'m_'*p"'.t'a
(xl]]E [ x!}[l(_TEmp—l)i o D_rnl'ﬁm3p-ﬁ
-1 _—4 =4
X m p _ =1 =7 2
= ————— =3x""'m
OO P
20 sz-4k5(;?2k]_2 _ F21~4k.5p-4k-2
{PZI—H}—I p-4xﬁ
-2 413
= PTXTTRT a3
= o r6 = px Tk
2 xEH,U(_r—I}E‘ _ xE.r_xU,r"i
" (2 T P16
=1
=2 =3
= 1“4 =X
- -1 -
- ['.t!_\i EF'EI} .Fl x ﬁ' ﬁpﬂ 2
- —_ ) — - -
xE{I q]ﬂ'fp ..},5} 2 xle.’lp-t}, 10
=h 6 _2
_ r ypep- 16 _-2
I T T T x_sy P
ey

{_r—l}.llﬁhﬂ},—z)—ai B x-mymxuys
{x-‘t}?z)z(pq]n ‘t—E},Er‘.d-Pﬂ
—lnvlﬁ

_ xx-ﬂyh =y 12
_ 1 | 1 ]
24, 324 — 2 e + P = s b g =72
2= 32 9 9
|
25 (-2 - Tyt Y- (-3)?
=8§-0=-1

26. -3[-2 -2 - (-3)](-2 - 3)
= -3[-2 - 2 + 3(-5) = =3[-1]{-5) = =15

27, =23 + 7% - |2 - 3| = =23 + 1) - |5

= 22 -5=4-5=-1

B |2 -3F-_(3P-2=22-0-(2n-2
=2-0+27-2=18

29. 2{[-3 - D)2 - B}
= 2{[-5(-2]-5} = -2{110)-5)} = 100

30. -[(-3)-2) - (-3)(-2 + 4] = -[6 + 3(2)]
= -[6 + 6] = —[12] = -12

Algebra 2, Third Edition

Problem Set 4

PRACTICE SET 4
2a~*b°( 2ab%c a‘IJ

I l xt - bt
_ 4a™%p%b ¢ . 2a~ %% 2

cx? ch=*

LA
d3_.rz &

a

-3 (ee)

oo | =
3 e
+ i
fad
| &1 &)= ¥
n
e Al
i
[E%]

&
=

ole

PROBLEM SET 4

2
Agircte = A7
Radius = rom: Area = ;I'r{rt:rnj2 = mr? em?

Radius = 2rem: Area = m{2rcm)1 = 4mr? em?

Since lines are parallel, 2x = 78
r=239

6z + 2x = 180
bz + 78 = 180

6z = 102

z2=17
2 x SF = 3

=2

2

? T
==X 95
Y=3

7 3 21

= = M e m e
R T S



Problem Set 4

3 x4y + 100 = 180 8. - -3 -22=(3x-5=2
X+ y =80 —6x -9 -4=3x+5-12
Since angles opposite equal sides are equal angles, -6x = 13 =3x + 3
=y = 40, -13 -3 =3x + 6x
x+ P = 180 -6 = 9x
40 + P = 180 L= _16
P = 140 T 9
P = 180
SR 9, 22 -3)-22-3=0x-(-4)
g+ Rk + 140 = 180 1
0+ R =40 ~dx + 6 -8-3=-x+
. . =y = 5 ==x + 4
Since angles opposite equal sides are equal angles, ;
0 =R =20 -4 -5 =-r+ dx
-9 = 3x
4. Aggre = 5° = (6em)® = 36 em? 9
X = =— =
3 3
Radius of circle = é = 6;”‘ = 1lcm
1 2
AST‘.&:‘I&'I = Aﬁqua.n: = Aall circles 10 4'_'1‘:': . 3?
= 36em? - ‘JJ'!'[]‘]Z em? 5 7 ,
= (36 - 97 em? = 7.74 em? —3-:: =3 + >
5. ACircle = ATriangle B _3¥_ 5
. 1 3 1010
mr = —hiH
: [ENE )
3 10
a1 em’® = %{3 cm
r=2. 3 _n7i_3
2% 209em 1013 130 10
3
3 2 3
6. 15(4 — S5b) = 16(4 — 6b) + 10 . —<x+o =43
ﬁu—?5b=64—gﬁf]+|ﬂ _é _3_5_3
96b — 756 = 64 + 10 - 60 Calr
b oy 2 ~ 56 56
a3 3 29
T
1 3 2
T 3 -e =73 229 5 1145
. 3 =22 5
10 2 5 56 3 168
ERRRE
10 45 P e S
Sx = “? ¥ -E gL TR ST
I‘ﬂ | _ xyz.r.v_z _ 3:}'2}_1
j-x = E xtix—3x{}.2}0 03,4
133 1 _X U3 4,
rs —-—= — = — = T3 = =
f 10 60 20 x x

10 Algebra 2, Third Edition



-4 -1,
Pl =
P Lm p
Y
oy p- day” Ya” }'
= - ST =y -y
iy Pp
(Bx) Y% alr"‘x”;.ﬁ _ 8LxyS
99 i 9y Ty 9yx
= g;x'l_y"
s (2yx~2)2 yx2 oy 214”‘2 oyt
(x2)0y~342 420y gy
_xh?
4
P 2(x” )2 gyl _ 2x dyxdyd _ 2x0y-2
P I(x%) x0xx2x=5x0 x4
= 2x%?
- {12},213—2}. B x_4.‘r'_2/f_:,'-‘_ x'f'}-'i
(x7% ) xxy? 4x xxy? 4x%y?
x—ﬂly'ﬁ
-4
18 3xixyix? N 12x%xydy* _ 12x71y2
(x2y)2(-2)7? ahy x4yl
= 12xY*
19 2% xyx 3xtyt Tyl
R 1= T
) ) Xy
= 2% - 3% + Teh? = ey
3x 2.-1.-1 -1 -1
20, — - iy 4 2yly
¥
T PO T
¥ ¥ X x ¥y
2ay? 5a%x~1 2yl
21. — = + =
x al'r'z ay
_ 2.::_-.-2 " Say- + 2xy - ?a_vz . _Iﬂ
X x a x a

22, a%a - ab) = (-2P[2 - (<2)3)] = 4(-2 + 6)

= 4(4) = 16

23, aPyalxy -
= 33 -9 = 3-6)=-18

Algebra 2, Third Edition

x%) = 3)=DE3[-3-1) - 37

26.

27.

29,

hi

Practice Set 5

a'zb{ﬂ — Bk - a)
= (=) 4=2)[-1 - D][-2 - (-1)]
= -2-1 + 20-2 + 1) = =2(I)-1) =

abla® — b)a - b
= (-3N=D[(=3)* -
= 39 + -3 + 1

(-1)](=3) = (=1}
= 3(10-3) + |

[
I
Z

Vo2 24+ -
==l = 1= I(-11) - 5 - |-5]
=-l-1+11-5-5=-1

-2 - 3|

-2{2[(-3 - 22) - (-3 + ] - 2}
~2{2[¢-7) - 4] - 2} = -2{2(-11] - 2}
-2{-22 - 2} = -2(-24) =

W (2-3-293) - (2-4) + (-6)
= -1 - (-6)(-3) - (-6) - 6
=-1-18+6-6=-19

1 16
JC16) =~ =4

_2-‘__._-_[._.]_]___2?—
=2%) (=2)7* 3) -

1 1 7
= |--]-4==--2a=-3L
(8)-4-5-4- %

PRACTICE SET 5

Ji—-4 + 3N) = IN = 212
12 + 15N = Tv - 212
BN = 200
N = =25

27%-16) = ——(-16
2[ ) =

If % were Victorian, g Were not.

= 1624 = NV

oo | Ln

5 x 203
1015 pieces

NV
NV

11



Prablem Set 5

PROBLEM SET 5
1. (2N — 94 = 10N - 8
8N — 36 = 10N - 8
36 + 8 = 10N - 8N

=28 = 2N
N=-14
2, INp + 11 = 4N, - 13
I.] + I3=4Nn—3Nn

24 ducks = Hﬂ.

3 (5N - B@
20N - 32

]

aN ~ 116
6N — 116

B. K+ 110
K

180
180 - 110 = 70

]

Since lines are parallel, @ = 70, P = 110, and
0=ux=T0

Since C is a straight angle, C = 180,

9, Circumfercnce = 2ar
l6rin. = 2xr
Rin, = r
"J'l['.'in:]a = H.I":I' = ﬂ'{ﬂ i.l'l.-}2

64rint = 200.96 in?

n

Vﬂylindcr = "q'Hasr. X height

20N - 6N

-116 + 32

14N = -84

N

= =

(6d7) in.? x 5in.
320min’ = 1004.8 in.?

4 F x of = is

—xC=12

=~
I

12 - % = 96 clowns

5 F % of =is

g
5 X 140,000 = Ng

40,000 horde members = Ny

6.. AF‘QR = EbH
27in? = %Iﬁin.}(m
9in. = H

AQ = PO = PA = 9in. - 6in. = 3in,

1 1 , )
Apap = EbH = 5(2]{31111.3 = 3in.?

7. Since angles opposite equal sides are equal angles,

¥y = 52.
x+ ¥+ 52 = 180
x + 52 + 52 = 180

180 - 52 - 52 =76

X

12

10. -3:92x - 3) — (<20) — 2 = 5(x — 392
Hr + 9+ 1 =2=10xr - 10
—6x + 8 = 10x = 10
10 + 8 = 10x + 6x
18 = 16x
L= B_2
16 8
11, 222 - x) - 43 -2) = -2(x + 3)
B +dr -3 +2=Tr=-8
dr + T =-xr -6
2x +dy = =6 - 7T
fr = —13
13
X = ——
6
| !
12 3—x +2— = —
¥ 8
19
i 1_2
8 4
Tool_18
277 8 8
=14
- = —
8
cozI9 2 38 _ 1
8 7 56 28

Algebra 2, Third Edition



1
13. E[ﬁ—&r}+ %(&ru 12) =4 + 6

-+ x-9=4x+6
k-6 =42+ 6
=6 -6=4r - i
=12 = %
x=-6

14, =3 -3% 3% - 5) - (-2 - 3)
= —(x - 3)
3 -l - 1Br + 45 + 2 + 3= x + 3
-6 + dd = —x + 3
=l6xr + x =3 - 44
~15x = 41

=
=

=

[y
L

15. =23 _ 21_2 x+2) -3 =224

B+ 4dr+8-3x=2+4
x=6

16. -3[x — 2 - 3(2)] + 2[x - 3(x - 2)]
= Tx - 5)
“3x + 6+ 18 + 20 — 6 + 12 = Ty - 35
-Tx + 36 = Tx = 35

-Tx = Tx =-35 - 36
=14y = 71
= 2L
14
- _z_ae:[ia-j_ ) 3&] _ 2abc’a”!  babac
c? b b &b b
2bc?  6alhe 6a?
Tl il Bl
c“h b e

18, -—
ba” b

" N 3a’x?
ba* b b

Mz[bﬂx3 ] axZbax? Jax?ax
= 3ax | = - 4+

" (xm2)0x O 0 ~ 4 200 200 _ 4
o imO2n) O e

4c2de(2ed) 2 _ 4cfac 327?20

20, = = Bk & b R
{"::'-::_3[n:'_zz;l':ll2 eVe3c4q2
_ c—-.‘!-d:'i _ 4d3.
¢ 'd?

Algebra 2, Third Edition

21.

12,

23

24,

27.

29.

m-!

Problem Set 5

2 =343 . -3
p’m’p27p
m®(m =) mp? mOm ™ mp 3

mip=t  m?

sm:3p.1 - BF'T

pimi(p2p

x? Xy 3x° Tx'

},—3 i }.-3 y.'ixdl-
=y - 3y 4 702 = 22t e Ty

3alyt 2aax? 557
X X i

= 3a2 + 2% - 5 = 2ar - 8aix®

mx — m(m — me*)
= 2-1) = (-D[-2 - (-2)(-1)]
=2+22+2=2+200=2+0=2

2 _ |2 1 | 1
@ -sa-b=(-3) -5-3)

“2(-2 - 3) - 2[-2(-3)] = -2(-2 - 9) - 2[6]
=-2(-11) - 2[6] = 22 - 12 = 10

Y I SN S LITL
e ) wy) 9+2?+4—134
“30[20 - 22 - 232 - 3]

= ~1[-1 - 4 - 8(-5)] = -I[-1 - 4 + 40]
~1[35] = -35

B2+ 5 -3+ 7 - 2]
=34 -4-2=-3-2 =6

13



Problem Set 6

a.

L

4.

14

PRACTICE SET 6

If 0.017 were red dwarfs, then 1 — 0.017 = 0,983
wWere not.

(0.983)(29,000)
28,507 stars

NRD
NED

1]

Consecutive even integers: N, ¥ + 2, N + 4
AN + (N + 4)] = 12N + 2) - 84
32N + 4] = 12N + 24 - 84
6N + 12 = 12N - 60
T2 = 6N
12=N
The desired integers are 12, 14, and 16.

PROBLEM SET 6
WD x of = is
0.016T = 480
T = 30,0040 teachers

If 0.653 were prophetic, then 0.347 were not
prophetic.

WD = of = is
0.34703000) = NP
1041 statements = NP

AN -T==2N-4
=3=N
Fxof=is

21 ®* BW = 175
2

BW = 175 = % = 70 barge workers

Odd integers: N, N + 2, N + 4

6N + N+ 4) = BN + 2) + 28

12N + 24 = 8N + ¥4
4N = 20
N=35

The desired integers are 5, 7, and 9,

ﬁl

10.

Integers: N, N+ I, N + 2, N + 3

4N+ N+3)=06(N+2)+24
BN + 12 = 6N + 36
IN =24
N=12

The desired integers are 12, 13, 14, and 15,

Surface area = 4xr> = 467 cm?

Il%?rcmz

Y 4z

J46

F= cm
2

Since angles opposite equal sides are equal angles,
A=H8B=M
K+ A =180

K = 180 — 34 = 146
Since angles opposite equal sides are equal angles,
M =17

L]
b4

<l
[[]

<)
n

w|= w]
2|

S
b
<l
=
1]
ko
L

S

| el

Since lines are parallel,
3B = 130
B 1N
3
180
180 — 130
= 50
25

24 + 3B
2A
24
A

A = 2(180 - A)
A = 360 - 24
34 = 360

A = 120°

Algebra 2, Third Edition



Problem Set 6

1. 0.005x + 06 = 2,05 " ab®(a'p™)?  ba2p? ol
Sr 4 600 = 2050 : Hb{ﬁbu}ﬂbf abaabe - ﬂjbzc
5x = 1450 = a3
x = 290
a0 {Z.rz]_:!(x}rﬂ}'z _ x—ﬁx—Ijﬂ _ ,l:"E
20 32r41l=qt 2% exy? 8(2)x*y?  16xty?
5 3 1
m._2_5 " T6x1Zy2
> 2 0, -l 1,2
E_I‘ _ E 3 E 2. 2y + 5x xgr N 5.1’.1: .\':;I
57T 12 12 ¥ (x7)"
17 7 = -2xy + 5xy - 5x = My - Sx
R 3xlxy? 2 3
73 5 365 n =2+ -4
FEres s ¥ ¥y Xy

= 302 4 2%y - 3yt = Ay - XY
13. -3(x = 2 + 1) - (-2)® = 3(x - 2)

=592 -1 - Xx 23. xy - 2%y -y = (2)(-4) - (<2)%-4) - (-4)
x4+ 6-3-4-3x+6=10-5-2x =8+ 16+4=28
-6x + 5 =10 -7
* * Ma'zb—a{a—b}
x=25 -3
(- (-
14, -3 - 22 - 2(x - 3) = 2[(x - 502 - 9)] 2 4 2A 2 4
=3 -4 -2+ 6 = 2[-3x + 15] =|+(l][_E]:]_§.=§
2r -1 = —6x + 30 2A 4 8 8
dx = 31 2 2
1 1 11 1
s w1 ()
x= 3 mptmp =) = "3 )72 5) s
“ ) H)
15, dx + 3N -2x-3)=2x -4 -x) - 3% B0\ 20 25 80% 100
dx+ 12 +x+3 =22 -4 +4x -9 26. —3{'[—32—2(—2-3}][—2u]=—l[—’9+lDl[-l]
28 = x

27, 3 - (=32 +(-3)-6)=-3-9+18=6

{ _an- PRI
1. ﬂ[ 3p” 2p]= 3np~! | 2xp

n Xy x~ly pxy pxly 28, 4+ -42-|2- 2|
= -3p2 4+ 247 =-94+9-16-4=-20
0 0 Oy 0 (1]
17, 2MEP _op) . xKCp, Zpck 29 322 0. Ll,i6-
p i x px P -2 9
kp  2pk . 1135 134 8
= e kx 2k = —— — = — = 14—
px P 9 9 9 9
(2x2% 2w xtyIm? xly 3 a2 11
18. LI 30, -2 32 _3mmee==3
mw'(v'z]" 4.1:3_1")"4 4xiy2 2 8 9
_ -2 _8 26 25 _ L7
4x 7 7 R 7 I 7

Algebra 2, Third Edition _ 15



Problem Set 7

PRACTICE SET 7
0% TO0%

. 100%

——

of 310 93| 217

Belore After

EKWN:QE

100
E w .iﬂ_WN = E w093
30 104) a0

WN = 310

b. 100% 2000%

of 380 Ta00

Before . After

we

— x 390 = 7800
100

]

100 WP . 390 = 7800 x 120

390 100 390
WP = 2000%

[

il

e S5x=21=2x+ 12

Ix =32
x =11

B = 5¢ - 21

B =511-21

BE=3

A=£8

A=M

16

PROBLEM SET 7

ixaj=i'.y —— EXWH=26
100 L0

100
WN =20 -— =13

20

Since one part of 130 is 26 for 20%, the other pan
must be 104 for B0%.

100% 208  BO%
A — e, i, e e

of 130 104
Before Log
After
WP o of=is —— PP . 250 = 1400
100 100
wp = 1400 - 120 = 4004
350

100% 400%

of 350 1400

Before After

P 20
P = [y — —— H." - 4ﬁ[]
oo <of=is 00 < "WV
_ 100
WN = 460 - 20 = 2300
20

Since one part of 2300 is 460 for 20%, the other part
must be 1840 for 80%.

100% 20% B80%
——— e, p————,

of 2300 1840
Before Y480
After

Algebra 2, Third Edition



wpP Wwp
4 — % =iy —= — % 20 = 680
o0 < =R 100
WF = 680 - @-:3400%
20
100%: 3400%
of 20 680
Before ' After

1900

5. ixaf=r‘s —=— _—— x WN = 380
100

100
WN = 380 - 20 _ 39
1900

100% 1900%
—

—he

of 20 380

Before After

6. Oddintegers: NV, N+ 2, N + 4
TN+ N +4) = I=-N -2y — 120

14N + 28 = 10N = 140
24N = 168
N =7

The desired integers are =7, =5, and =3,

7. Evenintegers: N, N + 2, N + 4

6N + N +4)= 14N+ 2) -8
12N + 24 = 14N + 20
4 = 2N
2=N

The desired integers are 2, 4, and 6.

B -2N + 5 =-N
E=N
9. x+ 15+ (5x+ 1)+ (x + 5 =
10x + 30 =
10x =
X =

Algebra 2, Third Edition

180
18O
150
15

10,

11.

12.

13

14.

15.

Problem Set 7

Since lines are parallel,
(GGx + 20) + (5x) = 180
By + 20 = 180
Br = 160
xr =20

|

Relabel the angles a, b, ¢, and o as having measures

X%, (3x)°, (6x)°, and (2x)° respectively.
X+ 3x + 6 + 2x = 180
12¢ = 180
x =15
mesa = 18 msbh = 45%,
mse = W, msd = 30°

The sum of x°, y°, z°, and the three 60° angles that

touch the vertex must equal 360°, a full circle.

X4+ v+ z+ 604+ 60+ 60 =360
x+yv+z= 18D
x4y + 7 =18

3p(=2 - +p-2% = —(2p + 4) - p"
fp+ 9% +p -4 =-2p -4 -1
l6p -4 = 2p ~ 5
18p = -1

T

15

0,005x — 0.07 = 0.02x + 0.0032
50r - 700 = 200x + 32

=732 = 150x
=132 122 ks
150 25
El + 31 + 2—l.r = 4i
8 2 20
5,16 88 125
2 40 40 40
5 47
_.1 ——
2 40
47 2
r= — =
40 5
-4
200 100

17



Practice Set 8

16.

17.

18.

19,

20.

21

22,

18

3 - 2 - 2% - 3) - 20
= 5(x-2)+ 3"

25,

X = xixy - ¥

= (-2)' - ((L2[-2-4) - (-4)]
= -8+ 23+4)==-8+24=16

I -2 -x+3-1+4="SFx-10+1
2+ 4 =-5¢-9
26,
Tr = =13
13
1= ==
7
EUP[{_I o k }_ nyp.t"__ 6XVpx
yEI e et ) v e v’ -
=2 - 6xtyp!
4x'2}1[2h3 B HA]
k ¥ k 28,
242 2,
_ Ba " ykx _ 12x™yxvy - 8 - 1202
ky kk
29,
(2x2y3) 3y B 16x %y My
(4xy) H(x72yPy  8x Ty Rehyly
5. -8 30.
_ 2Ty 2210
TS ¥
e 2y(x )P xy" _ dxx2yxbay? 4x~Cy
(2xy) 2 x2(y~3)? x 2y 2xly=® y B
= n‘x'_ﬁj:g
3xlxy 3 Txyp~! _ 2xap !
P 2 y" )
3 3xty . 753y 2y _ 2x3y
P P P P
4
prx P
= -dxp® + 3p* - 2up?
= —6xp” + 3p?

_ l(_i _ l] - l[-E] -2 __1
T8l o4 4 gl 4 32 16

+n_-.

. 1 I |
x — ala — xa) —2—-[—EJ[ > —?[ 2]]
1 1 11 1
= el = —_ - = 2
‘2+2(2+l] 2+.3[2] 2

1
- ?.E
2{[2° - 3-2)] - [-2-3 - 2x-2)1}
= 2{[-1 + 6 - [-2¢-5%-2]})
= -2{151 - [-20]} = -2{25} = -50

22 (P -u2-2-2
=] -2 -4+8+4+4-2=7

302 - N2 + 5H-2) - (=3 + N(-4" - 39
= (N-5)(3)(-2) — 4(-2) =30 + 8 = 38

2[(-2° - (=20 - 157 - (-2 - 3] -2
-2~ -d4-1]-2=24-4-1] -2
A1) ~2=-2-2=-4

PRACTICE SET 8

3x +dy =12
dy = 3x + 12
3
f = ==x + 3
y= -

The y-intercept is at (0, 3); the slope is 3.

l .

s ]

B I |
|

Algebra 2, Third Edition



Problem Set 8

ProOBLEM SET 8 P 40
T.—"Kﬂf:i.f—"'g—xﬁﬁ=wl“f
L. WD x af = is 100 100
0.36 x K = 828 MM:.?EE-SGZIWA.
o BB 00
= 036 knights 100% o 340%
2, Evenimtegers: N N+ 2 N+ 4, N+ 6
10N + N +6) = 9N+ 2+ N+6)+ 24 of 56 180.4
20N + 60 = I8N + 96
IN =
a6 Before Aftar
N=1%
The desired integers are 18, 20, 22, and 24. 8. A=20-4)+3
A= 180 - 24 + 3
3 IN-T==2N-T2 34 = 183
SN = -65 A = 61°
N=-13
9, x+4v =48
4. Fxof =is dy = 3x + 8
3
leN=41{} y=—=x+2
16 4

WN = 420 x ? = 960 warriors

5. Oddintegers: N, N + 2, N + 4

SN+ N+ 4)=2(=N-2) + 108
10V + 20 = =2N + 104
128 = 84
N=7

The desired integers are 7, 9, and 11.

¥
6. Tg—nxufm's — linm?xmvzsa
Wi w86 J00 _ an 10. (2 + 2) + (4x + 4) + (3x + 3) = 180
20 9r + 9 = |80
Since one part of 430 is 86 for 20%, the other part 9x = 171
must be 344 for 80%. x =19
100% 20%  80% 1. Agg, = %2 = 25w m?.
125 m?
= Ll =5m
Y =
of 430 344 r=8D=AC=5m
12. Since lines are parallel,
Before a6 (3x = 19) + (3x - 1) = 180
Bx = 200
x =125

Algebra 2, Third Edition 19



Problem Set 9

8. y+ 140 = 180 —= y =40

(Tx + 6) + (bx + 4) + y = 180
13¢ + 10 + 40 = 180
13x = 130

x =10

9, (5¢+ 100 + (Tx + 50) = 180
12x + 60 = 180
12x = 120

=10

Sx + 10 = 500y + 10 = 50 + 10 = 60

Since vertical angles are equal angles,
v+ 1 =60

y=59
z + 60 = 180

z =120

140, ACircle = mrt = ox l'lfl2
—

2

i9Tm
V2

Circumference = 2or = 2m(3m) = 6 m

r= =3m

111 }"h+3={)
y=2x -3

The y-intercept is =3; the slope is %

¥

1
i s A
i a N
- ..;....- 3 1 !
I . Y

L 1
a3z AR

EEEERAY.RE
NENNNANEEEER
ERERFARER !

22

12. 3y + 6 = —x
1
1 = e _2
¥ 3-’5

The y-intercept is —=2; the slope is -%_

¥
H
1
]

:.j,

1
L
{

b

', SR
o
1)
]
P
h.'ll?*-
I | IR
T
]
IF—f
I
T
|

i
i
;

i

|

L
Ll

13. 0.02 - 0.003x + x = 5005
20 = 3x + 1000x = 30035
997x = 4985

x=35

[
=
|
fad
i
o
+
T
I
=
|

16 _ 38 71
5 910
16 380 639
5T 90 90

|
;
I

I
|
-
I
|

15. 22 -3+ W2 - 1)) = -3ix -2
2f=x + TO)] = -3x + 6
2r=-3x + 6

S5k =

0 =4
0=x
Oy p2 g2 Oy2p?  x0y2y-2
V. =7~ "= 53,7 1,2
P ¥ P Py [
4 4
=p -p =0
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18,

19.

20,

21

22,

23,

25l

29,

30.

ﬂk‘z[zi‘ _ Bk] _ 2akY 3akk
a3 | o a3at P
= 2k% - 3a%!

szzm]-ﬁ‘nwi _ x-ﬁ},—ﬂa—ﬂ}uj ~ x-h},-z

x2ylay)?y fxya~ly 2y 8xla~t

2
_ a4
styz
(-2xyd) ™ _ _3—3},—?-2--3 _ x?
(x22- )7 8x-629 8yiz 12
w =2
3-,!:'-—21} +4L;:]-=3x—1r_1'+4.r
yoo (x)

= Tx - 2xy

2xy Sxxx 3_@'1

e = s g

po )y y
= 2_-:_1‘_ — E —_ S'IJI - ij'

P iy P
2

—ath — - (_1 _f.],.[_l]

@b - a [ 2] [4 .

i 1 5 7

= —— + = m— o — = —

It
]

b | —
—
I
b | —
|
=] =
—
1]
|
b | —
F
I
l:hl'-"‘?l
I

o
o=
L

I
i
| —
I
=|e
S
L]
Wle

ala - b)ab - b) = =2(-2 - 3)[-2(3) - 3]
= “2-5)(-6 — 3) = -2-5)-9) = -90

a*(x — ax?) = (-2)%[-4 - (-2)-4)]
= 4(-4 + 32) = 4(28) = 112

-2(-3 - 2%) - 2922 - 2) = 2(-4) - 1(-6)
=8+6=14

35 + 2)-2) - (3% - 2) - 2]
= “3[(-3N-2) - (1) = 2] = -3[6 + 1 - 2]
= -3[5] = -15

292 - 39 - -2y - |3
==1{-3) +8 -3
=3 +8-3=8

-%+-—1:--32=3+3-9=?
27 ~(-2)7
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Problem Set 10

PrACTICE SET 10

a at + 55 =92
at + 25
a* = 56

I
=]
—

o

=]
[
- Tk
:'.f]a\
a4
I
=

PROBLEM SET 10

1. [If 20% were in a festive mood, then 80% were not

in a festive mood.
P ,
— % of = is
100 f

ﬂx?:ﬂﬂ]
100

F:IWx%:l?Sﬂpm]ﬂe

2, Fxof=is

1
3— x § = 26,
7 % S = 26000

§ = 26,000 x % = 8000 soldiers

3. Fxof=is

L o M =500
10

Menape, = Menpgy — Meng;eg
Meng je, = 3900 - 59 = 5310 men



Problem Set 10

4. Oddintegers: N, N + 2, N + 4 10, Agguure = 4 % Ashaded
2 _ 2
AN=IN+2+N+4) -8 =4x9m° = 36m
4N = 6N + 10 Asquare = 8° = 36 m?
~2N = 10 5= ¥36m® = 6m
N=-5
11. 2y = 3x + 2
The desired integers are =5, -3, and -1, %
y==x+1
5. £ ® of = is 3
100 The y-intercept is 1; the slope is >
260 . 04 = 10,400 B
100 ¥
OA = 10,400 - L. 4000 minas
= 10, Ser =
"J
[ — ¥ of = is
100 5
14
—— A = 420}
100 Total
1 (M)
AT = 4200 - F = 30,000
AHidden = ATowl — ASeen
Abtidden = 30,000 — 4200 = 25,800 Argives 12, y=-3
The v-intercept is —3; the slope is 0
7. Circumference = 2mr = fwem ¥
r o= E ¢m o= 3cm ﬁ
2n T
[ | l...s_‘l.j.l ."";
Area = 7rt = m(3 em)® = 9 em? - '}:{;; ERERNE
.- FE— 4 i I Ii
8. Since angles opposite equal sides are equal angles, Mt X
TGS-i-a-2-i 1123458
x = 60. L T
et
x+ y + 60 = 180 Jl,_.,_T L
y = 180 - 60 - 60 = 60 NENERHERERES
v+ ZBDC = 180 |
SBDC = 180 - al = 120 13. ‘.2 - ﬂg " bg
z+ 20 + 120 = 180 7% = p? 4 42
z = 180 - 20 = 120 = 40 49=p2+16
2
9. (I7x + 20) + (20x - 25) = 180 =P
37x - 5 = 180 W33 =p
37k = 185
x=25

Since vertical angles are equal angles,
P=17x + 20

P =17(5) + 20 = 105

Since lines are parallel,

0 =P = 105
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14. y
|
FrTT T T T T T T
r---!F-H--.-s--i*:-; :
EEENENE R
Byesiiizate
IF-J L] I. i 1L= X
-ﬁ—ﬁ—lll-—u—" _",.E‘...z._._'!'..?.ﬁ‘
EARdLEEREEE
NEEEEMERNEEE
SENENHEEEREE
-vr -
p=1%+ 7
D=1+ 49
D? = 50
= x-'ﬁ
D= 5y2
15. Ex - -1-.1' = 2E
4 5 4
5.4 1t
200 2200 4
11 11
L p—
20 4
1120
S TH
16. =52 + 3y = 0.2(y + 2)
-52+ 30y =2y + 4
28y = 56
y=1
17. 4x(2 - ) + (-2x = 5) = <(3x + 2)
By —dx — 2x + 10 = =3x - 2
2+ 10 = =3 - 2
S5x = =12
12
X = =
5
18 dxy| 3y EIJ 12xyy~! Bxyx
R Y- T e N R T
m mox ym m cmcx moevm
=12 - 8x
19 Ixu}'[l_p _ 3&] _ 4xyp 6x" yxy
Py P py pp
=4 - ﬁ-l'y"p_l
20 (3x72) 2 xy 27xxy 3y
33y 2{}._,‘0}—3 gx-l.,._-ixn 1_2}4
= 3Tyt
" (x2p2)=3 402 ) x~6p 602 ) x~6p=4
) xipx3p3  x9pt
= xlp?
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22,

27,

29,

Problem Set 10

2 =3
3x+1—'r_zi“—-x”=3x+2x—1=5x-l
Xy
5xly ~ 377y + Taxylz
z e }'.-:2
_ 5.1:1}‘ N axly " ?xi_t _ 9::1_1!
z I Z Z

A+x+3N+iB+r+2+(C+x+1)
= Jlcm

Since A =x+ 3 B=x+ 2;and C=ux + I
e+ N+ e+ 2)+2x+1)=30cm

x4+ 6+ 2r+ 4+ 2x+ 2 =30cm

fx = 18cm

r=J3cem
bab - b) = —- [_l _i]_[_lJ
2 3 2 2

-_L[l+lJ__l[l+EJF_l[£]
~o2le  2)7 2\e e 203

.

6 3
ab - a*b® — b
() ()

20 2 2 2 2
[ N S N ST S R )

&4 16 2 16 16 & 16

a'(b — ab)b

‘F*F‘H‘EGJ":

=-§+8+4-2=12
2| - |29 - 3% - -3}
=-2-1-9+27=15



Problem Set 11

PRACTICE SET 11

a M, ak y mz" M Jakz 3y
3b 0 bt bz 3zt 3bzt 3k
_ mz® + 3akz = 3y
= ™=
z 2mn ab®z  ab’k  2mn
o E_k-" ab’ - ab’ - ab? " ab?
N ab*z - ab’k + 2mn
- ab®
c. v o= 2(40)
¥ = B
(4x 4+ 200 + (5x + B0y = 360 - 80
Or + 100 = 280
Gy = 180
x =20

ProBLEM SET 11
1. If 13% believed, 87% did not believe,

¥

I} ,
— X of = i§
100

87
— % L = 5220
100 Total

Ly = 5220 % % = 6000

Luclieved = LToist = Lot believed
Lpetioved = 6000 — 5220 = 780 people

2. Evenintegers: N, N + 2, N+ 4, N + 6
AN+ N+ 6 ==N=4-20

4N - 12 = N - 24
=N = =12
N=4d

The desired integers are 4, 6, 8, and 10,

3, % x of = is
E{'}- ® P = 55399
oP = $5599 x 120 _ <5545

220
Increase = %5599 — %2545 = $3054

26

If 30% sat around, 70% worked.

-‘I%mxﬂ_f=fx
—TE-KP=]4U‘]
1M
1K)
D = — = 200
F ]clmxm

Pg, = 2000 - 1400 = 600 peaple

1]
;l.

P
.—fo

OO
340
— X
100

RFP = 6800

100

— = A
RP = 6800 = 340 W0

Total = 6800 + 2000 = 8800 plums

Odd integers: N, N + 2, N + 4 N + 6

4N + N +6) = 10(-N - 4) + 10
-&N - 24 = -10N - 30
2N =6
N=-3

The desired integers are =3, =1, 1, and 3.
Since angles opposite equal sides are equal angles,
z =32

¥+ 2+ 32=180
¥ = 180 - 32 - 32 = 116

¥+ y =180
x+ 116 = 180
x =064

Since the measure of an arc of a circle equals the
measure of the central angle, p = 64,

Ashaded = Asquare — A3 Triangles

1 1 1
4)4) - —(2)1) - =(2H3) — —(4)(]
(4)id) 2{}(] 11{} 1{}{1

6-1-3-2
10 units*

Acircle = ATriangle

i
1 —bH
ar 3

& em)? = %:x em)(H)

27 em?
H = _.i'T_II'l = Z.thcm
mnom
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10.

11.

12.

13.

14.

15.

23x + 2) + 2(dx - 2) 4+ {3 - 2)=36m
Br+ 4 + By =4 + 6r — 4 =36m
W0x -4 =3m
206 = 40m
x=2m
Ik +2=32m)+2=8m
L
ax x° ax ax ax ax
kx? + abex - m
- 3
P 3_a=4p_4ﬂck+3a2
ak 4k dak dak  dak
_ 4p - dack + 3a°
dak
m* Ip 5
? - E‘; - dcix
_ dcim’x B 12¢p? _ _Sp
4c? px 4eipx At px
_ 4c?m?x - 12¢p* - Sp
4-{.'2;11‘
e =a? + b
112 = 42 4 x2
121 = 16 + x*
105 = x°
J105 = x
¥
. ‘l T T
ST
EEREEieEasse
_?:5_74713:-2-1"{_,{’: 3 4 1-\
| . 5
EEESEREIIE
Li ig -
p? = 5%+ 8’
D* =25+ 64
D? = 89
D= /89
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16.

18.

19.

20,

21.

22,

Problem Set 11

(a) 4x + 3y -6 =10
3y = -dx + 6
y = —%x + 2
{h} X = —3
¥
E ..I__ ey e
" NN
HEN ]
T N T X
B ié‘,__ | 1
- r.+Tr2 {ar}
1 e ) L 4 &
- LN
3l - Eix = 31
2 3
7. B
3 4 4
1.1
3 4
MU k- I 1
o4\ 7)) 28
0.03x —x + 2 = -09]
3r — 100x + 200 = —91
97y = -29]
x=23
32 -3 -7 = 2(3 -7 + 2
3x -1 = =dx + 2
Tx =13
3
==
7

-2
ﬂ_{'jaz_}l - %] =
¥ a

=3 - 2at

kL P
=ﬁ—4_}"2

2p%a2app*

_Ex“r.ﬂ[ﬁ _ %] .

_ 1

3::‘3:12:; N Iu'zy
¥ ya?

6xypk B 4xOypyk

kyp kp

6pSa”’! = 16%

(2pa=2)ap?

p—lu".l'

27



Problem Set 12

23,

27.

29,

2. —4 1

H_rzym_

Aym A 10,3 -1
= ZSJL' L]
(2x%) "y Py d
.rp‘3 3y~ 2x X 3x 2x
A =—s -3t
¥ o ppy o ow wp wp
=10
2.2 0
3ka + KAT 3K 31, 4 3ka - Ska
i vl
- = axjg - x)
- _[_1] _ [_l)[i][_l _ 3)
2 202072 7 2
1 3 1 3
= = ={=2)= = === =1
2 4{ ) 2 2
2
- - (-1 E-[_l]:_lg
@(> - a) [2}2 2 i
2 1

“2(=3 - 29 - 2)=2 + 5)-2) = “2(-6)(3)-2)
=-72

1 [ |
a0 T 97 T 2

1 1
=14+ —=4+4=5-
4 4

|-39] - |-2 - 3] + (2°)-2 - 5)
=]l-5+7=3

PrRACTICE SET 12

Every point on this line is 5 units below the x-axis,

50 the equation is y = =5,

The v-intercept is —1. The slope is negative with a
rise over the run of 3 for any triangle drawn. The

equationis y = =1x = L.

PrROBLEM SET 12

[t 40% were monochromatic, 60% were variegated,

%XGI':FS
60

09 o v = 2400
00

100
v = 2400 x 2 _ 4000
* 60

Monochromatic = 4000 - 2400 = 1600 vases

3‘

Integers: N, N+ I. N+ 2. N+ 3
2N+ N+ 1+ N+3)=3-N-2)-40
oN + 8§ = <3N - 46
ON = =54
N=-6
The desired integers are -6, =5, =4, and -3.

Fxof =is
415(5:5[[[!
4
4
5= 5100 x — = 120
17
Fxof =05
|
2—x N=1
5
W:[xizi
11 11

S(-N) + 25 = 8N + 90
~13N = 65
N=-§

If the train completed 3009, then T0% remained.

%xafzis
70

— % TL = 63
Imx 6300

TL = 6300 x %"— = 9000 miles

z + (180 — 140) + (180 — 70) = 180
2+ 40+ 110 = 180

=3
(dx + 25) + (Tx - 200 = 360 - 40
llx + 5§ = 320
1lx = 315
315
r=
11

1
y = —(40) = 20
) f}

Asector = %[“*‘1} = 36w cm®

,2 = 6(36m) cm’
» .H .
4216 cm = 646 cm

r

Diameter = 2r = 2(6+/6) cm = 12+/6 cm

Algebra 2, Third Edition



10. Relabel angles A, B, and C as having measures of
3x, 2x, and x respectively.
3x + 2x + x = 180
fr = 180
30

A=9%; B =060; C=230

X

- c mbex * by c2
11. w4+ =+ _2 = 5 + 5 A 3
¢ x<h bex = hex bex

p @_3% 2 a3 2a
"k a? abe albc  albe alkbe
_ajc—3bzc—1n
a’be
+
13, 1+4-%L,a_b*a
b b b b
4. & =a+ b
132 = 5% + k2
169 = 25 + k*
144 = k2
12 = k&
15. ¥

| T _L ot —
'rrr}z‘ Wann
-l 1 | | -
B8 f-G-G-4-3 |1 22
B
EENAANE NN
L
p? =9 4 5-2
D? =81 + 36
D = 117
D= 117
D= 3413
16, {a) 3y + x =9 =1
Jy==x+9
¥ = ——x + 3

Algebra 2, Third Edition

Problem Set 12

by x =2
¥

T@- s T

Tt ’J'r

1 L

TR

- e g l.'\.l e e s T

jl-_[,-ﬂ-:.‘-ﬂ_-" L X

] 2 : 1’

e

,_Er__.__l._ -

17. (a) The y-intercept is +2. The slope is positive and
the rise over the run for any triangle drawn is 3.

1
= —x + 2
¥ 31'
{b} Every point is 2 units below the x-axis,
= -2

._
g
o
|
+
]
[
=
1]

|
g
]

19. 0001 + 0.0 - 0.1 = 0.002x
I+ 20¢ - 100 = 2x
18x = 99

xX=—=255
20, 3(=2 - %) - (-2) - A2 - ) = -2x + 4)

b+ 3x+2+4+6r=-2x-8§
O + 12 = -2x - 8

1lx = =20
_
11
a3 xf o2 a2 o2 307
U A =3 s a2 =
¥ Y ¥y Yoy ow ¥
=axy - Ba‘s.ry:*
= —2&4,]:}'3
0._-2 )
9y XX [J:"‘Jr' N EJ::})
¥ X
M x 2yl ¥ 2ol 2 2 ¥ -4
= - ry — 1 _ 2,_1'
¥ ¥x

29
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